EARAROBEEIERT — 2 N— IBISH —F

2016512838 (£) 5EIFWTH

Gl Y >%3mtE 5007 TF

(5] T8

(xwlw | mEmml - |5 5 o s

[~E4] 1% :7,500,000 @ ~ 23 :3,000,000MH ~ 3i&:

1,900,000 H . 4 & :1,100,000 H 5 & : 750,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
5 s 5 4t 3 | C. bx—) 1:53.7 5-5-6-4 |37.8| 96.4 | 6 498 | FHIEX (i)
14| FTE-TI— 5.0 =) o) | BEEE ()
RixF1z=gr—2 Bik—vrETL— aE BE
S > 5 | dtHRE 1:54.1 2-2-2-2 [ 38.7]93.0 | 7 472 | EEER (EH)
2 10 ®7 ) Fx v b 7570 2 1/2) g) | HBES
R:xF21=gyr—X B:wRKII— "HEI77—L4
S 44 | RERETT 1:54.2 3-3-3-3 [38.6] 92.1 | 8 506 | EEHEL (EH)
W2 *T>av7z17 [B] 57.0 (3/4) (+4) | PEXH
x4 oagyayy B:NLge7)l)— VA N
R T T o3 | BBERE 1:54.4 10-12-8-9 | 38.2 | 90.4 | 2 506 | ATTIETE (i)
46| 5/~ F 5.0 (1 172) Lo | W) 5952
LN—E>Tv— BN RN R J=HTr—L
— 4 3 | JIHEERS 1:54.4 13-13-14-11] 37.3 | 90.3 | 16 | 506 |/\SEfmsh (i)
50111 T‘fU"T/[‘ 56.0 (74%) (-12) ?{;I/Z N7 T (KR
LY LIAN=F Bz hLFry b BRIT7— L
2 S8 S 43 | FHEARR 1:54.8 1-1-1-1 [ 39.5| 87.2 | 9 | 522 |R&EB— (EX#)
6[714) S2EUNITY > A53.0 @ 1/2) (+1p) | TAE
A:Intense Focus B XA ¥+ &I — b KE BE
e > 3| R 4L=T 1:54. 8-10-12-11 | 38.1 | 86.0 | 1 452 | BERE (ERH)
ZHH samyen & e e wa |THE
RZXHTLAR BiRTA NH—ZNL 75 Kiis
oo (OS £ 4 | WEEE :54.9 7-7-8-10 |38.7| 86.1 | 5 | 500 |EEEZ (ki)
8|8|15| / — 27> FA—1 [B] R s e | AR
L:TVYA XTI RN B/ yT1>TF v B fE—
. 4 4 | REES 1:54.9 16-16-14-14| 37.8 | 86.0 | 12 | 456 |HBEER (E#)
9l1|2| V>V /7 55.0 (NF) +12) (H) MR — T
R:RZy YTl BiXL—hILEK UL ¢
# o3 | SElig— 1:54.9  [13-14-12-11|38.1| 86.0 | 13 | 466 |ZATE (i)
n : EESPEY .0 (75) o |BllER
LTIy IAAK BT ELYa—H— 0] =
— L 4 3 | HDE 1:55.0 8-7-11-7 | 38.7| 85.2 | 3 482 | EHML (EH)
1 3 RZtELET M) — 56.0 (1/2) (+4) ESaE/:3
LN=Y7514 B:AN—HI-2> [EA=bie]
=5 44 | AIEIGH 1:55.4 13-15-16-16| 38.2 | 81.6 | 10 460 | AZHRIE (EH)
12|59 | Ta7ITLAL AB5.0 @ 1/2) © By MBL— 2k
L:7L>FFE2T1 B:TO—¥FXr RN HET7—L
> = . 4 4 | BSAIEM 1:56.0 10-10-5-5 | 40.3 | 77.9 | 14 | 482 |EEFX (E#)
13 71T 1547247 57.0 (3 1/2) 412) /J":?ﬁ?kﬁlg
R:TSAT7LX84L B9z 145471)X BIZ77— L4
P g 4 3 | BHEBE :56.0 6-6-6-7 |40.2| 77.8 | 1 488 | M EEF (EiH)
14/8[16| TAH—T v 2 5.0 () o | BB
XL THANAN B:IFKR—5 BRE#M IXT477—AL4
S7s = 44 | BEHEXH 1:56.1 10-9-3-5 [40.6 | 77.3 | 4 510 | BE=FIBL (Ei)
EHB ARERTIINT 57.0 (1/2) @g) | B EvILyRTr—L
LV WN—=Fv—L B:TA7T1-FET TR E—
S > 4| AWTR 1:56.8 4-4-8-14 | 40.6| 71.8 | 15 | 478 |fREAL (i)
161713/ @722 —L YR “ %50 w o) | BRI
R:VPRYTYAIR B:TLT1497 K- milll EZE
@ 71 L
) 50.6-38.4
NA>Z4 L | 12.9-11.9-13.0-12.9-12.4-12.2-12.2-12.7-13.5
® I —F—@EBIERL
13—F— 14-10,12-13,4,16,15(3,11) (6,7,8)-(1,5,9)-2
2=1—f— 14,10,12-13,4,16(3,15)8(11,7)6,1,5,9,2
Gol=5r= (x14,10) (12,8)7(4,16) (15,13,6)3-(11,5)-(1,2)9
43 —F— (¥14,10)12,4(8,7) (3,16)6,15(1,11,5) (13,2)9
[ N3
H OB 4 1,350 714K 4-10 2,990 e E 2-5 3,370H RPEL:] 4-10-12 112,120H
BB 4 420M 4-12 4,940 B = 4-10 12,460M 3EE 4-10-12 617,950
10 560 10-12 7,270 B H 4-10 26,5904
12 780M

ABICOVWTRDTEEERROODE. TR LIV,




